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NEW QUESTION 1
What is used to reduce attack surfaces?

A. Access
B. Remediation
C. Segmentation
D. Device trust

Answer: C

NEW QUESTION 2
Which statement embodies trust-centric security?

A. Verify before granting access via MDM software
B. Prevent attacks via an intelligence-based policy, then detect, investigate, and remediate
C. Protect users from attacks by enabling strict security policies.
D. Verify before granting access via identity-based policies for users, devices, app
E. and locations

Answer: D

NEW QUESTION 3
What does remote access use to verify identity?

A. MFA
B. Remote Access VPN
C. Agents
D. AMP for Endpoints

Answer: B

NEW QUESTION 4
In which two ways should companies modernize their security philosophies? (Choose two.)

A. Reinforce their threat-centric security tactics.
B. Decrease internal access and reporting
C. Expand their IT departments.
D. Rebuild their security portfolios with new solutions
E. Complement threat-centric tactics with trust-centric methods.

Answer: DE

NEW QUESTION 5
Which two elements does Tetration provide for security posture and traffic analysis? (Choose two.)

A. Device updates
B. App process information
C. App access control
D. App dependency map
E. Hardware packages

Answer: BD

NEW QUESTION 6
Which are two reasons perimeter-based network security is no longer sufficient? (Choose two )

A. more vulnerabilities
B. more IT professionals
C. more networks
D. more devices
E. more users

Answer: DE

NEW QUESTION 7
Where do you start to achieve true network visibility?

A. Branches
B. Fabric Level
C. OT
D. IT

Answer: B
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NEW QUESTION 8
Which two benefits of streamlined management does Cisco provide? (Choose two.)

A. Unified management across multiple services
B. Siloed systems
C. Consolidated security monitoring
D. Centralized management
E. Device access control

Answer: AD

NEW QUESTION 9
Which two areas require secure access? (Choose two.)

A. Workflow
B. Workspace
C. Workforce
D. Worktable
E. Workloads

Answer: CE

NEW QUESTION 10
What are three main areas of the Cisco Security Portfolio? (Choose three.)

A. Firewalls
B. Advanced Threat
C. Cloud Security
D. Roaming Security
E. loT Security
F. Voice & Collaboration

Answer: BCE

NEW QUESTION 10
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